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1. Which is not an operating system?
(a) Chrome OS (b) Microsoft
(c) Solaris (d) Fedora

2. What is the full form of SSD storage media?
(a) Simple State device (b) Solid Stage Device
(c) Storage Stage Device (d) Solid State Drive

3. Which one is not a computer network topology?
(a) WAN (b) Mesh (c) Star (d) Bus

4. Programming Language C++ is a/an:
(a) Notepress (b) Assembler (c) Interpreter (d) Compiler

5. Which one is not any service of Internet?
(a) Telnet (b) E-mail (c) Newsgroup (d) ITgol

6. The decimal equivalent of binary number 10100 is:
(a) 20 (b) 19 (c)11 (d)17

7. A computer language that is written in binary codes only is known as:
(a) High Level Language (b) Machine language
(C) Assemble language (d) C# language

8. In computer, Arithmetic Logic Unit is a part of
(a) RAM (b) CPU (c) HDD (d) AUX

9. Which one is not an input device of computer?
(a) Trackball (b) Joystick (c) SSD (d) Light Pen

10. Which one is not a Primary Memory of Computer?
(a) PROM (b) GROM (c) ROM (d) EPROM

11. One fine morning, after sunrise, Ramesh and Satish were standing in a park with their
backs towards each other. If shadow of Ramesh fell exactly toward the left hand side of
Satish, then which direction was Satish Facing?

(a) North (b) South (c) North-East (d) South-West

12. A Pupil's marks were wrongly entered as 83 instead of 63. Due to that, the average
marks for the class got increased by one-half. The number of pupil in the class is:
(a) 10 (b) 20 (c)40 (d) 73
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13. The earliest year next to 2001, whose calendar perfectly matched with it must be:
(a) 2007 (b) 2012 (c) 2018 (d) 2035

14. Walking % of my usual speed, the time that | take to reach my office is 10 min. What is
my usual time to reach the office?
(a) 13§ min (b) 7% min (c) 24 min (d) 30 min

15. A man sold two cows for Rs. 40000 each. On the first cow, he gained 8%, whereas on the
second, he lost 8%. Find the gain or loss % on the whole transaction.

(a) no profit, no loss (b) 4% gain

(c) 4% loss (d) 0.64% loss

16. It takes one hour for a water tank to be filled through constant flow of water from a pipe
of 2 inches diameter. If the diameter were 4 inches, how long would it take to fill the same
tank?

(a) 30 min (b) 15 min (c) 5 min (d) 2 hrs

17. If weight of a chocolate is 120 gm plus one-fourth of the weight, then weight of the
chocolate is
(a) 150 gm (b) 160 gm (c) 180 gm (d) 200 gm

18. What is the angle between two hands of a clock at 10.15 p.m. ?
(a) 135.5° (b) 142.5° (c) 157.5° (d) 162.25°

19. In a month, there are five Saturday. Then last day of the month could possibly be:
(a) Thursday (b) Wednesday (c) Tuesday (d) Monday

20. If 3 men or 4 women can reap a field in 43 days, how long will 7 men and 5 women take
toreap it?
(a) 12 days (b) 16% days (c) 21 days (d) 102 days

21. There were 200 fishes in an aquarium, 99% of which were red. How many red fishes
must be replaced to make the % age of red fishes to be 98% ?
(a) 50 (b) 4 ()1 (d)2

22. For a charity show, the total number of tickets sold was 240. Half of these tickets were
sold at the rate of Rs. 50 each, one third at Rs 25 each, one-tenth at Rs.10 each, and the
remaining at Rs. 5 each. What was the total amount collected?

(a) Rs. 8320 (b) Rs. 3820 (c) Rs. 8230 (d) Rs. 3280
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23. Value of 7’7,/7 N7 ..=7?

(a) 732 (b) 78 (c) 74 (d) 7

. . . 1
24. In an examination, a candidate scores 25 marks for every correct answer and loses 1

mark for every three wrong answers. A candidate attempted all the 100 questions and
scored 114 marks. How many questions did he answer correctly?
(@) 72 (b) 60 (c) 48 (d) 52

25. One year ago, Promila was four times as old as Sonia. Six years hence, Promila's age will
exceed Sonia's age by 9 years. The ratio of the present age of Promila and Sonia is:
(a) 13:4 (b) 9:2 (c) 11:3 (d)12:5

26. A person is right in front of his home. Which of the following sequence of turnings will
result in facing him again in front of the home?

(a) Left, Right, Right, Left, Right, Right, Left, Right

(b) Right, Left, Left, Right, Left, Right, Right, Left

(c) Right, Right, Right, Left, Left, Left, Right, Right

(d) Right, left, Left, Right, Left, Left, Right, Left

27. If four tosses of a die show the following configurations, what must be the face number

oppositeto 4 ?
5 3 4 2

1 3 4 s 3 2 3 1

(a)2 (b) 1 (c)6 (d) 3

28. A man wears socks of 2 different colours- black and brown. He has altogether 20 black
and 20 brown socks in a drawer. Supposing, he has to take out the socks in the dark, how
many socks must he take out to be sure that he has a matching pair?

(@) 2 (b) 3 ()5 (d) 20

29. The LCM of two numbers is 495 and their HCF is 5. If one the numbers is 45, what is the
other number:
(a) 35 (b) 75 (c) 65 (d) 55
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30. Which one number when placed at “?" shall complete the following number matrix?

9 5 8
12 7 3
6 ? |4
261 | 174 | 89
(a) 8 (b)9 (c) 10 (d)12

31. Architect: Building :: Sculptor: ?
(a) Museum (b) Stone (c) Camera (d) Statue

A survey was conducted to have a knowledge on the idea of people regarding the
constituents of culture. The responses are given in the following pie-diagram. Study the

diagram and answer the following questions (Q. No. 32 -33):
Rituals x Language

Religion
70%

32. What angle is attributed to the responses other than religion and rituals:
(a) 30° (b) 45° (c) 54° (d) 60°

33. If the sample size is 450, then the number of respondents who favour questions other
than Language and Rituals would be
(a) 315 (b) 305 (c) 135 (d) 30

34. Pointing to a gentleman, Parul Said, “His wife is the sister of the father of my mother's
son”. How is Parul related to the gentleman?
(a) Niece (b) Daughter (c) Sister-in-law (d) Daughter-in-law

35. Manisha is at the 20™ position from either end of as queue of girls. How many girls are
there in the queue?
(a) 40 (b) 39 (c) 41 (d) none of these

36. If AIR =53, SUN =27, then VENUS =?
(a) 50 (b) 52 (c) 55 (d) 54

37. Identify the wrong number in the sequence: 1, 5,9, 17, 25, 35, 49
(a) 5 (b) 9 (c) 17 (d) 35

E8

INDIA EXAM
JUNCTION

Job Alerts | Previous Year Question Paper | Online MCQs



https://indiaexamjunction.com/
https://indiaexamjunction.com/government-jobs
https://indiaexamjunction.com/government-jobs?blog_cat=Punjab%20Question%20Paper%20Bank
https://indiaexamjunction.com/online-quiz

== com
JOB ALERTS | PREVIOUS YEAR QUESTION PAPERS | TEST SERIES

INDIA EXAM

JUNCTION () O +9162398 22773 | Follow us on: o - oo@

38. If A stands for 'X', B stands for ‘—’, C stands for ‘+’ and D stands for ‘+', then what is the
value of the expression

8C6D(2A3)B5

(a)12 (b) 2 (c)3 (d) 14

39. As an 'Author' is related to ‘Writing', similarly a ‘Thief’ is related to
(a) Sleeping (b) Night Patrolling  (c) Stealing (d) Lecturing

40. A number S is obtained by squaring the sum of the digits of a two-digit number D. If
difference between S and D is 27, then the number D is
(a) 24 (b) 54 (c) 34 (d) 45

41. Village Sanghol is in which district of Punjab:
(a) SAS Nagar (b) SBS Nagar (c) Fatehgarh Sahib  (d) Hoshiarpur

42. As per Budget 2020, which of the following organizations has been asked to prepare a
Taxpayer charter:

(a) NITI Aayog (b) Department of Economic Affairs

(c) CBDT (d) CBIC

43. "Kappa"' and “Delta” recently seen in the news are related to
(a) Forest (b) Space (c) Oil Exploration (d) Disease

44. Which of the following countries has recently introduced "Third Child Policy'?
(a) China (b) Norway (c) New Zealand (d) France

45. Which of the following destinations is not part of the Char Dham Pilgrimage?
(a) Badrinath (b) Kedarnath
(c) Dwarka (d) Rameshwaram

46. The SUTRA model recently in news is related to which of the following?
(a) Farm Law (b) Covid-19 pandemic
(c) Military strategy (d) Rural Development

47. Farmers Day in India is celebrated on the birthday of which of the following?
(a) Mahinder Singh Takait (b) Sir Chottu Ram
(c) Sunder Lal Bahuguna (d) Chaudhary Charan Singh
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48. The President has the power to nominate two members to Lok Sabha belonging to
which community?

(a) Ghreshan Community (b) Anglo Indian Community

(c) Jew Community (d) Parsi Community

49. Who participate in the election of Vice President of India?
(a) Members of the Lok Sabha

(b) Elected members of the Lok Sabha and the Rajya Sabha
(c) Members of the Rajya Sabha and the Lok Sabha

(d) Members of the Legislative Assemblies of the states

50. World's first nationwide 5G mobile network was launched by which country?
(a) China (b) South Korea (c) India (d) Japan

51. Where is the Sports Stadium “Green Park” located?
(a) Kanpur (b) Jamshedpur (c) Cuttack (d) Pune

52. Which missile is designed to defend large installation like oil fields against enemy air
attacks?
(a) Nag (b) Agni (c) Prithvi (d) Akash

53. Gambit is the term associated with which game?
(a) Polo (b) Chess (c) Golf (d) Rugby

54. Headquarters of International Red Cross is situated in which city?
(a) Amsterdam (b) Copenhagen (c) Geneva (d) Oslo

55. CDMA technology used in mobile phones stands for:
(a) Computer Developed Management Application

(b) Code Division Multiple Application

(c) Code Division Multiple Access

(d) Code Division Mobile Application

56. In India the commercial banks are given license of operation by:
(a) The Government of India (b) The Ministry of Finance
(c) Reserve Bank of India (d) Banking Companies Regulation Act, 1949

57. NABARD was established on the recommendation of:
(a) B. Sivaramman Committee (b) Tandon Committee
(c) CRAFICARD (d) Talwar Committee
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58. Which of the following is a measure of selective credit control?
(a) Bank Rate Policy (b) SLR
(c) Open Market Operations (d) None of these

59. Currency chest balance is periodically verified by
(a) Bank own officials (b) RBI Officials
(c) Bothaandb (d) Officials of AG office

60. The portion of total deposits of commercial bank which it has to keep with RBI in the
form of cash reserves is termed as:
(a) SLR (b) CRR (c) Bank Rate (d) Repo Rate

61. The registration certificate as per Punjab Co-operative Societies Act is issued by:
(a) Registrar (b) Deputy Registrar
(c) Assistant Registrar (d) Secretary. Co-operative Societies

62. The By-Laws of a Co-operative society are approved by
(a) The general body of the society (b) Registrar
(c) bothaand b (d) none of these

63. The eligibility to become a member of Co-operative society in terms of age is:
(a) above 25 years  (b) above 21 years  (c) above 20 years  (d) above 18 years

64. How many persons are required to register a co-operative society as per Co-operative
Societies Act, 19617
(a) Five (b) Eight (c) Ten (d) Fifteen

65. Every member of a co-operative society shall exercise his vote in the affairs of the

society
(a) In Person (b) By Proxy
(c) Through Nomination (d) All of these

66. Who was the first recipient of Dada Saheb Phalke Award?
(a) V. Shanta Ram (b) Devika Rani
(c) Prithviraj Kapoor (d) Guru Dutt

67. Where will the weight of an object be least?
(a) North Pole (b) Equator
(c) Centre of the Earth (d) South Pole
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68. Which of the following is the morning Raga?
(a) Bilawal (b) Yaman (c) Malhar (d) Pahadi

69. A Natatorium is a building which contains the following?
(a) Tennis Court (b) Volleyball Court
(C) Badminton Court (d) Swimming Pool

70. Graminology is the study of which of the following:
(a) Weight (b) Old Age (c) Gravity (d) Grasses

71. Who among the following has won the Grand Slam in Tennis?
(a) Rod Lever (b) John McEnroe (c) Jimmy Connors  (d) Arthur Ashe

72. What is the deepest point in Earth's oceans?
(a) Java Trench (b) Tonga Trench (c) Mariana Trench  (d) Everest Trench

73. Who was the first Miss World from India?
(a) Reita Faria (b) Zeenat Aman (c) Yasmin Daji (d) Parveen Babi

74. Which is the first Indian Institute of Technology?
(a) IT Bombay (b) IT Madras (c) IT Kanpur (d) IT Kharagpur

75. How many Princely states were included in PEPSU?
(@) 7 (b) 8 (c)9 (d)6

76. ‘AI3” AET T feadt I ;
(a) G (b) FII3T (c) AT (d) AfammH

77. famrat T fersdt 891
(a) famirse (b) IMIres (c) Imra3 (d) I &t

78. Ag Ucer T Ie I

() STIIITT (b)) B HSHII T (c) Ireg I A" (d) fedu Sg&r
79. 7E fod 296 © "fiad wdg § d&F Sar J= 3T Sgeus AN dG © B I3 It
(a) &= & (b) B & (c) faaat (d) e8Iz &

Job Alerts | Previous Year Question Paper | Online MCQs



https://indiaexamjunction.com/
https://indiaexamjunction.com/government-jobs
https://indiaexamjunction.com/government-jobs?blog_cat=Punjab%20Question%20Paper%20Bank
https://indiaexamjunction.com/online-quiz

== com
JOB ALERTS | PREVIOUS YEAR QUESTION PAPERS | TEST SERIES

INDIA EXAM

JUNCTION () O +9162398 22773 | Follow us on: o - oo@

80. fagz = fAfa3
(a) SIHI § HE, 3T A AUT AR Al (b) TSIl § AT A SUR ARG
(c) T= 8 g€ W3 IH I AT I A=Al (d) &t &t

81. fri8 YyIs fergH &8 e 3fgar I, ug A &8 frimrer Ga =a3 It o
(a) SfES 37 (b) SfES (c) AFaT (d) fESt amr

82. UIHSH A< feg Wai3g o:
(a)y (b) @d (c) UdH (d) SIH"

83. @I YA fiA feg Bt 28 8A © wnue Hies 3 1Bftmr J-, @A & faar Aier 3:

(a) =& (b) A=-HE& (c) AFAHI® (d) 3y fg39
84. HO T ©H:

(a) IF 3A S A3 (b) ST3 3A S 73w

(c) AStH 53 3T S (d) ASTH g3 39 Sfrmr

85. fHIs™ fed WS 3 &7 5fgd G & sfde Ja:
(a) SISEH (b) AHST (c) SIg FM (d) SI=TTF"

86. Select the correct sentence:

(a) She refused to let either of us go home.

(b) After an hour | began to feel sick and so | asked the driver to let me down.
(c) Haji Islam will be returning from leaves by the end of August.

(d) During my year in England, | learned a great deal of how other people live.

87. Fill in the blank with the correct forms of verb.
In August, it rains very often and this floods.
(a) could cause (b) caused (c) causes (d) both b and c

88. Fill in the blank with the correct forms of verb
I dear, go and answer the door bell.
(a) cook (b) am cooking (c) was cooking (d) both b and c
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89. Fill in the blank with the correct forms of verb
He orders us about, as if he the boss.
(a)is (b) was (c) were (d) has been

90. Select the synonyms of the word given below:
Ubiquitous
(a) Rare (b) Everywhere (c) Clear (d) Sparing

91. Select the synonyms of the word given below
Shovel
(a) Grass (b) Knife (c) Plough (d) Spade

92. Select the synonyms of the word given below
Conundrum
(a) Siren (b) Obvious (c) Confusion (d) Communicate

93. Select the Antonyms of the word given below
Blonde
(a) Block (b) Light (c) Misty (d) Dark

94. Select the Antonyms of the word given below
Uncouth
(a) Unveil (b) Burly (c) Overt (d) Civilized

95. Select the Antonyms of the word given below
Intermittent
(a) Sporadic (b) Fitful (c) Continuous (d) Global

96. Fill the blank with correct word.
took part in the discussions
(a) neither (b) either (c) bothaand b (d) whoever

97. Fill the blank with correct word.
are expected to attend the seminar
(a) I, You and She (b) You, she and | (c) Me, You and She (d) You, she and me

98. Fill the blank with correct word.
She got out of the difficult situation
(a) anyhow (b) somehow (c) whatsoever (d) midway
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99. Select the correct sentence

(a) There must be an alternative way of handling the problem

(b) Although it is only a small town, but it is very popular for tourists
(c) My sister isn't married and my brother isn't married also.

(d) Mr. Lim always does not leave the office before five O'clock

100. Select the correct sentence

(a) The amount of tourists increases every year

(b) Between all the photographs Mohinder showed me, there was only one of his wife
(c) Remember that babies have to have plenty of sleep

(d) We need another information before we can reach a decision.
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ANSWER KEYS

Q.No. | Ans | Q.No. | Ans | Q.No. | Ans | Q.No. | Ans | Q.No. | Ans
1. B 21. D 41. C 61. A 81. D
2. D 22. A 42. C 62. B 82. C
3. A 23. D 43. D 63. D 83. B
4, D 24. D 44, A 64. C 84. C
5. D 25. A 45, B 65. A 85. D
6. A 26. B 46. B 66. B 86. A
7. B 27. B 47. D 67. C 87. C
8. B 28. B 48. B 68. A 88. B
9. C 29. D 49. C 69. D 89. C

10. B 30. C 50. B 70. D 90. B
11. A 31. D 51. A 71. A 91. D
12. C 32. C 52. D 72. C 92. C
13. A 33. A 53. B 73. A 93. D
14. B 34, A 54, C 74. D 94. D
15. D 35. B 55. C 75. B 95. C
16. B 36. D 56. D 76. K 96. A
17. B 37. D 57. A 77. A 97. B
18. B 38. B 58. D 78. B 98. B
19. D 39. C 59. C 79. B 99. A
20. A 40. B 60. B 80. A 100. C
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